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Read the following passage and answer the question that follows:

The following table shows the percentage (%) distribution of teachers in six different subjects - Physics, Chemistry, Mathematics,
Zoology, Education and Hindi, in & University in the year 2022, alongwith the ratio of male to female teachers in each subject.
Total number of teachers in the subject of Physics is 446. Based on the data in the table, answer the questions that follow.

Subject-wise Distribution of Teachers

Subject Percentage (%) Ratio of Teachers

Distribution of Teachers

Males - Females

Physics 14% 93
Chemistry 13% 17
Mathematics ~ 21% 34
Z00logy 22% 9
Education 18% 3
Hindi 12% 13

Sub questions

Question Number : 1 Question Id : 22742722460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the total number of teachers (both male and female) and the total number of male teachers in the university,
respectively?

1.3000 and 1592
2. 3200 and 1392
3. 3200 and 1508
4.3000 and 1608

Options :



22742787501.1
22742787502. 2
22742787503. 3

22742787504. 4

Question Number : 2 Question Id : 22742722461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Number of female teachers is more than 300 in exactly subjects.
- Two

. Three

. Four
Five
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Options :

22742787505. 1
22742787506. 2
22742787507. 3

22742787508. 4

Question Number : 3 Question Id : 22742722462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Number of teachers (both male and female) in Hindi is approximately % less than the total number of female
teachers in Mathematics and Chemistry together.

1.4359
25144
3.

281
4 48 66

[

B e =

Options:

22742787509. 1



22742787510. 2
22742787511. 3

22742787512. 4

Question Number : 4 Question Id : 22742722463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the ratio between the total number of teachers (both male and female) in Zoology and the total number of male teachers
in Chemistry and Education together?

1.176:103

2 5141

3.101:83

4. 7159

Options :
22742787513. 1
22742787514. 2
22742787515. 3

22742787516. 4

Question Number : 5 Question Id : 22742722464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the difference between the total number of female teachers and male teachers in the University?

1. 408

2. 412

3. 416

4 42

Options :
22742787517. 1

22742787518. 2



22742787519. 3
22742787520. 4

Question Id : 22742722459 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 22742722460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1.3000 3R 1592
23200 3R 1392
3. 3200 3R 1808
43000 3R 1608
Options :
22742787501. 1
22742787502. 2
22742787503. 3

22742787504. 4

Question Number : 2 Question Id : 22742722461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742787505. 1

22742787506. 2

22742787507. 3

22742787508. 4

Question Number : 3 Question Id : 22742722462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
227427875009. 1
22742787510. 2
22742787511.3

22742787512. 4

Question Number : 4 Question Id : 22742722463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1.176:103

2.51:41

3.101:83
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Options :
22742787513. 1
22742787514. 2
22742787515. 3

22742787516. 4

Question Number : 5 Question Id : 22742722464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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1. 408

2. 412

3. 416

4 42

Options :
22742787517. 1
22742787518. 2
22742787519. 3

22742787520. 4

Sub-Section Number : 2
Sub-Section Id : 227427881
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 22742722465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

At which stage of cognitive development adolescents can think, reason and analyse beyond the realm of concrete experiences?

1. Formal operational Stage
2. Sensorimotor Stage

3. Concrete operational Stage
4 Pre-operational Stage
Options :
22742787521. 1
22742787522, 2
22742787523. 3

22742787524. 4

Question Number : 6 Question Id : 22742722465 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742787521. 1
22742787522. 2
22742787523. 3

22742787524. 4

Question Number : 7 Question Id : 22742722466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Mr. Jackson wants to create a multimedia lesson on the solar system for his students. In this context, which of the following toals
would be most suitable?

1. Quizizz

2. Nearpod
3. Mentimeter
4 XMind

Options :

22742787525. 1
22742787526. 2
22742787527.3

22742787528. 4

Question Number : 7 Question Id : 22742722466 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742787525. 1
22742787526. 2
22742787527. 3

22742787528. 4

Question Number : 8 Question Id : 22742722467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A relationship in which a less experienced learner acquires knowledge and skills under the quidance of an expert is known as:

1. Cognitive apprenticeship
2. Observable learning

3. Cognitive load

4 Cognitive science

Options :

22742787529. 1
22742787530. 2
22742787531.3

22742787532. 4

Question Number : 8 Question Id : 22742722467 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
95 ey oo D1 o9 FHd! ATl by [IRIST & FHEYH 4 TH Ud SR Hiold #Ra1 8, U ded &

1. SFHIES I
2. Teofig e

3. SHHD HR

4. THIES fiRH

Options :

22742787529. 1
22742787530. 2
22742787531.3

22742787532. 4

Question Number : 9 Question Id : 22742722468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): Assessment of leaming is based on constructive feedback to enhance learning.

Statement (I1): The goal of Assessment of Learning is to provide summative grades at the end of the leaming process.
In light of the above statements, choose the most appropriate answer from the options given below,

1. Both Statement (1) and Statement (Il) are true.
2 Both Statement (1) and Statement (I1) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (1) is true.

Options :

22742787533. 1
22742787534. 2
22742787535. 3

22742787536. 4



Question Number : 9 Question Id : 22742722468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742787533. 1

22742787534, 2
22742787535. 3

22742787536. 4

Question Number : 10 Question Id : 22742722469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Accarding to the principle of associationism of mental operation, which law states that one idea leads to another because in the
past they have occurred together in terms of either time or space?

1. Law of partial activity
2. Law of proximity

3. Law of mental set

4 Law of contiguity
Options :
22742787537. 1

22742787538. 2



22742787539. 3
22742787540. 4

Question Number : 10 Question Id : 22742722469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742787537. 1
22742787538. 2
22742787539. 3

22742787540. 4

Question Number : 11 Question Id : 22742722470 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



|dentify the types of longitudinal studies from the following
{A). Trend Studies

(B). Cross-sectional Studies

(C). Panel Studies

(D). Prospective Studies

Choose the correct answer from the options given below:

1. (A) and (D) only.

2. (A), (B) and (C) only.
3. (B), (C) and (D) only
4 (A), (C)and (D) only
Options :
22742787541. 1
22742787542. 2
22742787543. 3

22742787544. 4

Question Number : 11 Question Id : 22742722470 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742787541. 1
22742787542, 2
22742787543. 3
22742787544. 4

Question Number : 12 Question Id : 22742722471 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

In survey research, the tendency of a respondent to answer in predictable ways, independent of the question content, refers fo

1. Experimenter Bias

2. Measurement Bias

3. Response Bias

4. Psychosocial Effect
Options :
22742787545. 1
22742787546. 2
22742787547. 3

22742787548. 4

Question Number : 12 Question Id : 22742722471 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742787545. 1



22742787546. 2
22742787547. 3

22742787548. 4

Question Number : 13 Question Id : 22742722472 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per UGC Regqulations 2018 on plagiarism, a faculty member will invite the penalty of denial of one annual increment, if in the
submission of & research publication, he/she commits plagiarism of level

Options:

22742787549. 1
22742787550. 2
22742787551. 3

22742787552. 4

Question Number : 13 Question Id : 22742722472 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742787549. 1



22742787550. 2
22742787551. 3
22742787552. 4

Question Number : 14 Question Id : 22742722473 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A student's t-test would be useful in

(A). testing the significance of difference of two sample means
(B). testing the stationarity of a time series

(C). testing the significance of correlation coefficient

(D). testing the significance of a regression coefficient

(E). testing the goodness of fit of a model

Choose the correct answer from the options given below

1. (A), (B) ﬁﬂl[}{CrDr‘ly’

2. (B), (C)and (D) only

3. (A), (C) and (D) only

4. (A), (B), |D‘|and (E) only.
Options:

22742787553. 1
22742787554. 2
22742787555. 3

22742787556. 4

Question Number : 14 Question Id : 22742722473 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742787553. 1
22742787554. 2
22742787555. 3
22742787556. 4

Question Number : 15 Question Id : 22742722474 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): A dependent variable can be dichotomous.

Statement (I1): An independent variable can never be dichotomous.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (1) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (I1) s false.
4 Statement (1) Is false but Statement (1) is true.

Options:

22742787557. 1



22742787558. 2
22742787559. 3
22742787560. 4

Question Number : 15 Question Id : 22742722474 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742787557. 1

22742787558, 2

22742787559. 3

22742787560. 4

Question Number : 16 Question Id : 22742722475 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Who, among the following, is identified as one of the pioneer authors to set semiotics as part of communication?

1. Irene Eber
2. Walter Lippman
3. Joseph Pulitzer
4 John Locke

Options :

22742787561. 1
22742787562. 2
22742787563. 3

22742787564. 4

Question Number : 16 Question Id : 22742722475 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742787561. 1
22742787562. 2
22742787563.3

22742787564. 4

Question Number : 17 Question Id : 22742722476 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Indian communication concept is based on the centrality of in human interactions.

1. llusion

2. Language

3. One-sidedness
4. Catharsis

Options :

22742787565. 1
22742787566. 2
22742787567. 3

22742787568. 4

Question Number : 17 Question Id : 22742722476 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742787565. 1
22742787566. 2
22742787567.3

22742787568. 4

Question Number : 18 Question Id : 22742722477 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The study of concepts or connections with time, as a part of human communication, is known as

1. Proxemics

2. Kinesics

3. Chronemics

4 Haptics
Options :
22742787569. 1
22742787570. 2
22742787571.3

22742787572. 4

Question Number : 18 Question Id : 22742722477 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742787569. 1
22742787570. 2
22742787571.3

22742787572. 4

Question Number : 19 Question Id : 22742722478 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following physical environmental factors affect the communicatiors' behaviour during interaction?
(A). Smiling face

(B). Melodious voice

(C). Temperature

(D). Lighting conditions

(E). Loud noise

Choose the correct answer from the options given below:

.(A), (B)and

1. (A), ( ) only.
2.(B), (C)and
3.(C), (

(

(
(D) only
(E) only
B) and (E) only.

: EC‘. D) and
4 (A),
Options :
22742787573. 1
22742787574. 2
22742787575. 3
22742787576. 4

Question Number : 19 Question Id : 22742722478 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

227427875731
22742787574. 2
22742787575. 3
22742787576. 4

Question Number : 20 Question Id : 22742722479 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Every communication contains elements of both content and relationships.
Statement (I1): Eye behaviour does not provide metacommunicative cues.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (1) are true.
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) Is false.
4 Statement (1) is false but Statement (I1) is true.

Options:

22742787577.1



22742787578. 2
22742787579. 3
22742787580. 4

Question Number : 20 Question Id : 22742722479 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742787577. 1

22742787578. 2

22742787579. 3

22742787580. 4

Question Number : 21 Question Id : 22742722480 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In the given number series, determine the next term.

-7,-9,-1,7,23,7?, ...

o b T
o o O
n =~ M ka3

Options :

22742787581. 1
22742787582. 2
22742787583. 3

22742787584. 4

Question Number : 21 Question Id : 22742722480 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742787581. 1
22742787582. 2
22742787583.3
22742787584. 4

Question Number : 22 Question Id : 22742722481 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



In a coding scheme, the word 'SCHOOL' is coded as '72'. How will the word 'COLLEGE' be coded in this scheme?

L D
L R ]
= T

o
P
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[

Options :

22742787585. 1
22742787586. 2
22742787587. 3
22742787588. 4

Question Number : 22 Question Id : 22742722481 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
BTG AT H 'SCHOOL' T 1 72" 4 H BeXfae b1 91T €1 'COLLEGE' a5 1 8 AIoT § 8 etiad vl STTT?

Options:

22742787585. 1
22742787586. 2
22742787587.3

22742787588. 4

Question Number : 23 Question Id : 22742722482 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



E51]

Given are two numbers whose ratio is 7:3. If '2'is added to each of them their ratio becomes 2:1. What is the sum of these two
numbers?
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4
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n
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Options :

22742787589. 1
22742787590. 2
22742787591. 3
22742787592. 4

Question Number : 23 Question Id : 22742722482 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742787589. 1
22742787590. 2
22742787591.3

22742787592. 4

Question Number : 24 Question Id : 22742722483 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Acando % of awork in 4 days and B can do g of the work in 15 days. Together, they will complete the work in

1 4idays

2. 5§days

3 8?11 days

4 ?%days
Options :
22742787593. 1
22742787594, 2
22742787595. 3

22742787596. 4

Question Number : 24 Question Id : 22742722483 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742787593. 1
22742787594, 2
22742787595. 3

22742787596. 4

Question Number : 25 Question Id : 22742722484 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



How much water (free of cost) should be added to 18 litres of milk worth 370 per litre so that the value of the mixture is T80 per
litre?

1.2 litre
2. 3litre
3. 4litre
4 5litre

5
5
5
5

Options :

22742787597. 1
22742787598. 2
22742787599. 3
22742787600. 4

Question Number : 25 Question Id : 22742722484 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

370 Wi iex S1d aT 18 TfieR g8 a1 o (H-3ees) v < o o &) ik <60 Wi <fieR &1 oe?

1.2l

2 3T

3. 47l

4 5T
Options:
22742787597. 1
22742787598. 2
22742787599. 3

22742787600. 4

Question Number : 26 Question Id : 22742722485 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following group of terms in order of increasing extension.
(A). Feline

(B). Mammal

(C). Tiger

(D). Animal

Choose the correct answer from the options given below:

1.(C), (A), (B), (D
2.(C), (A), (D), (B
). (
). (

o

3. (D), (B), (A C:
4 (D), (C), (A), (B

—_

Options :

22742787601. 1
22742787602. 2
22742787603. 3
22742787604. 4

Question Number : 26 Question Id : 22742722485 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Fufeiad We-uqe! & 9%ad & ARG s H Haiyd DIT;
(A). [asa

(B). 1ot

(C). aTH

(D). T

I feu U fadbedl § U TEl SR 94 -

1.(C), (A), (B), (D
2 (C), (A), (D), (B
3. (D), (B), (A), (C
4. (D), (C), (A), (B

L S



Options :

22742787601. 1
22742787602, 2
22742787603. 3

22742787604. 4

Question Number : 27 Question Id : 22742722486 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) - In an inductive argument the truth of the premises does not show that the conclusion must be true

Reason (R) : If something has repeatedly happened in the past it makes it highly probable that the same thing will happen again
in future in the same circumstances but does not ensure it

In light of the above statements, choose the most appropriate answer from the options given below .

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the comect explanation of (A).
3. (A) is correct but (R) is not correct.

4. (A)is not correct but (R) is correct.

Options :

22742787605. 1

22742787606. 2

22742787607. 3

22742787608. 4

Question Number : 27 Question Id : 22742722486 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742787605. 1
22742787606. 2
22742787607. 3
22742787608. 4

Question Number : 28 Question Id : 22742722487 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which fallacy is committed in the following statement?
"People who lack humility have no sense of beauty because everyone who has a sense of beauty also has humility”.

1. Fallacy of Equivocation
2. Begging the Question
J. Fallacy of Composition
4 Hasty Generalisation

Options:

22742787609. 1
22742787610. 2
22742787611.3

22742787612. 4



Question Number : 28 Question Id : 22742722487 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
227427876009. 1
22742787610. 2
22742787611.3

22742787612. 4

Question Number : 29 Question Id : 22742722488 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

|dentify the formal fallacy committed in the following argument

" One way humanity could die out is, if the Sun stopped functioning. then we would surely go extinct. If we all go extinct. it must
have been because our Sun stopped working "

1. Denying the antecedent
2. Existential Fallacy

3. Exclusive Premises

4 Afiirming the consequent

Options :

22742787613. 1
22742787614. 2
22742787615. 3

22742787616. 4



Question Number : 29 Question Id : 22742722488 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742787613. 1
22742787614, 2
22742787615. 3

22742787616. 4

Question Number : 30 Question Id : 22742722489 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one Is labelled as Assertion (A) and other one labelled as Reason (R).

Assertion (A) : According to the Classical Indian school of logic (Nyaya) the argument- 'Sound is eternal because it is audible' is
fallacious.

Reason (R) : In the argument- "Sound s etemal because it is audible" the middle term is oo wide.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the comect explanation of (A).
3. (A) s correct but (R) is not correct.

4 (A)is not correct but (R) Is correct.

Options :



22742787617.1
22742787618. 2
22742787619. 3

22742787620. 4

Question Number : 30 Question Id : 22742722489 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742787617. 1

22742787618. 2

22742787619. 3

22742787620. 4

Question Number : 31 Question Id : 22742722490 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is an Indian mobile payment app developed by the National Payments Corporation of India, based on the
Unified Payments Interface (UPI) that facilitates safe, easy and instant digital payments?

1. MyGov
2. UMANG
3. BHIM

4 PhonePe

Options :

22742787621. 1
22742787622. 2
22742787623. 3

22742787624. 4

Question Number : 31 Question Id : 22742722490 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742787621. 1
22742787622. 2
22742787623.3

22742787624. 4

Question Number : 32 Question Id : 22742722491 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements:

Statement (1): 1SPs provide the user with access to the Intemet (for a fee), whereas web browsers allow the user to view web
pages.

Statement (1): Each web page/site found matching the search criteria in a web search engine is known as a 'hit'
In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) is true but Statement (I1) is false.
4 Statement (1) is false but Statement (11} is true.

Options :

22742787625. 1
22742787626. 2
22742787627.3
22742787628. 4

Question Number : 32 Question Id : 22742722491 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742787625. 1
22742787626. 2

22742787627. 3



22742787628. 4

Question Number : 33 Question Id : 22742722492 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
In the following MS-EXCEL spreadsheet you are given a list of 100 customers. Column ‘A’ represents their names, 'B' s for

customer category; 'C' for payment category (0 means discounted price and 1 means full price); 'D' indicates price that customer
pays. The list in the example spreadsheet below is not complete and simply shows different categories

A B c D
1 |Customr Name  (Customer Category ~ Payment Category  |Price (3)
2 [Raman Child 0 0
3 [Dinesh Adutt 1 5
4 |Jashan Adutt 0 2
101 |Amt Child 0 0

Statement (1) The formula = COUNTIFS(B2:B101,"Adult") counts all customers who are adults.
Statement (I1): The formula = COUNTIFS(B2:101,"=Adult”) counts all customers who are adults.
In light of the above statements choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (Il) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement () s true but Statement (1) Is false.
4 Statement () s false but Statement (If) Is true.

Options :

22742787629. 1
22742787630. 2
22742787631. 3

22742787632. 4

Question Number : 33 Question Id : 22742722492 Question Type : MCQ Option Shuffling :

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

No

No



0 .00, TR S H 10! 100 75! 01 U T 41 7 6| B1ed ‘A H 970 T &, B g 410 & U &, 'C' 4Tt 4
& T S (01 &1 § ST @1 iR 1 1 3 3 Ol i), ‘D' S @1 1 Sl & ol e ] 3 o Seeul i i €1 T
Tiaie A O Gl 781 & o 75 7 v S0 et 21

A : C D

1| @I | Teaam WRal | B R
2 s Child 0 0

3 fem Adut 1 5

4 TR Adut 0 2
101 Gt Child 0 0

BYF- 1 The formula = COUNTIFS(B2B101,"Adult’) T+ 7% e @1 0T e 3|

BYF- 11 The formula = COUNTIFS(B2:B101 "=Adult) ¥ 0% 71! o1 T0RT %l 3|
S BT o STl & T el B 8 W S

1 T | 3NN T8

2 T | 3R I G 3 8|

3 T | T 8, i 3 || AT B
4 T | 3T &, Tl & || T 8|

Options :

22742787629. 1
22742787630. 2
22742787631. 3

22742787632. 4

Question Number : 34 Question Id : 22742722493 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following hardware components will lose data when the power to a computer is switched off?
(A). CPU Reqisters

(B). Cache Memory

(C). Main Memory

Choose the correct answer from the options given below:

1.(C) only

2. (A) and (C) only.
3. (B) and (A) only
4. (A), (B) and (C).
Options :
22742787633. 1
22742787634. 2
22742787635. 3

22742787636. 4

Question Number : 34 Question Id : 22742722493 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742787633. 1

22742787634. 2



22742787635. 3
22742787636. 4

Question Number : 35 Question Id : 22742722494 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List-l with List-Il

List List-I
(Type of -
Malware) (Description)

(A). Trojan— |(1). A program that replicates itself in order to spread to other computers and uses & computer network fo spread
Horse itself

(Il). Anon-self-replicating program containing malicious code that when executed. carries out actions, typically

B). Worm
o causing loss of data.

(C). Spyware  ((Ill). Atype of malware which restricts access to computer system fhat it infects, often demands a fee.

(D). (IV). A program that aids in gathering information about a person or organisation without their knowledge. For
Ransomware  |example, it detects key presses of the computer user.

Choose the correct answer from the options given below:

1.(A)- (1), (B)- (1), (C) - (V), (0) - (1)
2.(A)- (), B)- (1), (C)- (IV), (D) - ()
3. (A)- (I}, (B)- (1), (C)-(IV), (D) - (i)
4.(A)- (1), (B)-(IV), (C) - 1) (D) - ()
Options :

22742787637. 1
22742787638. 2
22742787639. 3

22742787640. 4

Question Number : 35 Question Id : 22742722494 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. (A) - (), (B) - (I, (C) - (IV), (D) - (1)
2. (A) - (1), (B) - (1), (C) - (IV), (D) - (1lI)
3. (A) - (1), (B) - (1), (C} - (IV), (D) - (11}

— —

4. (A) - (D), (B) - (IV), (C) - (1), (D) - (IlI)

Options:

22742787637. 1
22742787638. 2
22742787639. 3
22742787640. 4

Question Number : 36 Question Id : 22742722495 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion (A) and other one labelled as Reason (R).
Assertion (A) - Even when a solid waste is buried in landfills, it can still provide energy.

Reason (R) : Buried waste produces natural gas which can be captured and burned.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both (A) and (R) are correct and (R) is the correct explanation of (A).

2. Both (A) and (R) are correct but (R) is NOT the correct explanation of (A).
3. (A) is correct but (R) is not correct.

4. (A) s not correct but (R) is correct.

Options :

22742787641. 1
22742787642. 2
22742787643.3
22742787644. 4

Question Number : 36 Question Id : 22742722495 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742787641. 1

22742787642. 2

22742787643. 3



22742787644. 4

Question Number : 37 Question Id : 22742722496 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(Given below are two statements:

Statement (1): If Global average warming is limited o one or two additional degrees some regions will experience enhanced
agricultural productivity.

Statement (II): Beyond 2 °C to 3°C of global average warming, essentially all impacts become deleterious
In light of the above statements, choose the most appropriate answer from the options given below,

1. Both Statement (1) and Statement (1) are correct.
2. Both Statement (1) and Statement (Il) are incorrect
3. Statement (1) is correct but Statement (11) s incorrect

4 Statement (1) is incorrect but Statement (II) is correct

Options :

22742787645. 1
22742787646. 2
22742787647. 3

22742787648. 4

Question Number : 37 Question Id : 22742722496 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742787645, 1

22742787646. 2

22742787647. 3

22742787648. 4

Question Number : 38 Question Id : 22742722497 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following air pollutants has got very strong affinity towards hemoglobin of the human blood?

1. Carbon monoxide
2. Carbon dioxide
3. Nitric oxide

4 Nitrogen dioxide

Options:

22742787649. 1
22742787650. 2
22742787651.3

22742787652. 4

Question Number : 38 Question Id : 22742722497 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742787649. 1
22742787650. 2
22742787651. 3

22742787652. 4

Question Number : 39 Question Id : 22742722498 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

(Given below are two statements:

Statement (1): Composting is the aerobic degradation of organic materials by microorganisms mainly under controlled
conditions

Statement (II): Both macro and micro-organisms play important role in the composting process.
In light of the above statements, choose the most appropriate answer from the options given below,

1. Both Statement (1) and Statement (Il) are correct.

2. Both Statement (1) and Statement (II) are incorrect.
3. Statement (1) is correct but Statement (1) is incorrect.
4 Statement (1) is incorrect but Statement (11} is correct.

Options :

22742787653. 1
22742787654, 2
22742787655. 3

22742787656. 4



Question Number : 39 Question Id : 22742722498 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742787653. 1
22742787654 2
22742787655. 3

22742787656. 4

Question Number : 40 Question Id : 22742722499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements:

Statement (1): Toxins that are rather dilute in the environment, can reach dangerous levels inside cells and tissues through the
process of bioaccumulation.

Statement (11): Bioaccumulation occurs when the foxic burden of a large number of organisms at a lower trophic level is
accumulated and concentrated by a predator in a high trophic level.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) is true but Statement (I1) is false.
4 Statement (1) is false but Statement (1) is true.

Options :

22742787657. 1
22742787658. 2
22742787659. 3

22742787660. 4

Question Number : 40 Question Id : 22742722499 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742787657. 1
22742787658. 2
22742787659. 3

22742787660. 4

Question Number : 41 Question Id : 22742722500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The Simon commission set up a committee on education which was considered as a/an

1. University committee
2. Provincial committee
3. Auxiliary committee
4 Federal committee
Options :
22742787661. 1
22742787662. 2
22742787663. 3

22742787664. 4

Question Number : 41 Question Id : 22742722500 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
HISH AR (@) = Rien gdd ve ofafa vfed &1 471 S8 9 5 © o1 9191 o 41

1. fayfaeneg ofafa
2. WI=iig giHfd
3. YIS GiHfd

Options :
22742787661. 1

22742787662. 2



22742787663. 3

22742787664. 4

Question Number : 42 Question Id : 22742722501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The University Education Commission (1945-49) laid stress on
(A). Religious education

(B). Changes in curriculum

(C). Women's education

(D). Rural universities

(E). Examination reforms

Choose the correct answer from the options given below

_(A), (B) and (C) only.
2 {A; and (D) only
Al and (E) only.

), (D) and (E) only.

(C)

(D)
4 {E!. (C)
Options:
22742787665. 1
22742787666. 2
22742787667.3

22742787668. 4

Question Number : 42 Question Id : 22742722501 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742787665. 1
22742787666. 2
22742787667. 3

22742787668. 4

Question Number : 43 Question Id : 22742722502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): The National Education Policy (2020) foresees a wide use of disruptive technologies in the higher education
system.

Statement (1): The National Educational Technology Forum is expected to prepare a roadmap for integrating the disruptive
technologies into the education system.

In light of the above statements, choose the most appropriate answer from the options given below,

1. Both Statement (1) and Statement (I1) are true.
2. Both Statement (1) and Statement (II) are false.
3. Statement (1) 1s true but Statement (I1) is false.
4 Statement (1) 1s false but Statement (1) is true.



Options :

22742787669. 1
22742787670. 2
22742787671. 3

22742787672. 4

Question Number : 43 Question Id : 22742722502 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742787669. 1

22742787670. 2

22742787671. 3

22742787672. 4

Question Number : 44 Question Id : 22742722503 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The UN agency that took initiatives for introduction of environmental education was

FAO
UNICEF
UNDP
UNESCO

[ R L

e

Options :

22742787673. 1
22742787674. 2
22742787675. 3

22742787676. 4

Question Number : 44 Question Id : 22742722503 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742787673. 1
22742787674. 2
22742787675.3

22742787676. 4

Question Number : 45 Question Id : 22742722504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Match List-l with List-ll

List-| List-ll

(Authors) (Treatises)
(A). Panini (). Mahabhasya

(B). Bhartrhari|(ll). Vaishishika-Sutras

(C). Kanada ((Ill). Vakyapadiya

(D). Patanjali [(IV). Ashtadhyayi

Choose the correct answer from the options given below:

1. (A) - (IV), (B) - (1), (C) - (11}, (D) - (I}
2. (A) - (IV), (B) - (1), (C) - (11), (D) - (1)
3. (A) - (N, (B) - (IV), (C) - (1), (D) - (1)
4. (A) - (IV), (B) - (II1), (C) - (1), (D) - (11}
Options :

22742787677. 1
22742787678. 2
22742787679. 3

22742787680. 4

Question Number : 45 Question Id : 22742722504 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1. (A) - (IV), (B) - (I1), (C) - (1), (D) - (1)
2. (A)-(IV), (B) - (1), (C) - (II), (D) - (1)
3. (A) - (1), (B) - (IV), (C) - (I, (D) - ()
4. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)
Options:

22742787677. 1

22742787678. 2

22742787679. 3

22742787680. 4

Sub-Section Number : 3
Sub-Section Id : 227427882
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742722505 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension



Read the following passage and answer the questions that follow:

For thousands of Delhites who have gone through the pain of Partition in 1947, it will be a walk down the memory lane when
they visit the world's second museum on Partition of India at Delhi's Dara Shikoh Library building. For their descendants, it will
be an opportunity to see what their parents and grandparents had suffered and a lesson in history about the world's largest
migration.

The purpose of the museum is o connect people with their past. It will also give visitors a sense of heritage. "History is important
and the young generation should learn from the past and should not repeat the mistakes." said the chairparson of the Arts and
Cultural Heritage Trust, Kishwar Desal. Lakhs of people were killed and displaced during Partition and people need fo remember
that such violence should never happen, she added.

Awooden sculpture of & horse Ioaded with skeleton and bones made in paper méche style by Kashmiri artist Veer Munshi
conveys the pain of people during the migration. In & few audio-visual clips, Delhi residents who decided to stay back narated
their experiences- what they saw, what happened to them, ihe day of Independence.

Rehabilitation was also not easy and this struggle has been depicted through a wooden "fallen house” made by Munshi. Even
when & person fries 1o resettle, his/er house has actually fallen apart, Desal pointed out.

Sub questions

Question Number : 46 Question Id : 22742722506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
The museum on Partition of India at Delhi's Dara Shikoh library building is

1. The one and only Partition Museum in the world
2. The first Partition Museum in the world

3. The second Partition Museum in the world

4 One of the many Partition Museums in the world

Options :

22742787681. 1
22742787682. 2
22742787683. 3

22742787684. 4

Question Number : 47 Question Id : 22742722507 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Why is history important for the young generation?

(A). to connect people to the past

(B). not to repeat mistakes made in the past

(C). to learn from the past

(D). to remember the past and to take revenge against those who caused the pain
(E). to remember that violence that occurred in the past should never happen again

Choose the correct answer from the options given below:

1. (B), (C) and (D) only

2. (C), (D) and (E) only

3. (A), (B), (C) and (E) only.
4 (A) and (E) only
Options :

22742787685. 1
22742787686. 2
22742787687. 3

22742787688. 4

Question Number : 48 Question Id : 22742722508 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The Partition Museum is of value to the following:

(A). Visitors

(B). Youngsters

(C). Mathematicians

(D). Progeny of people who have gone through the pain of partition
(E) People who have experienced the partition

Choose the correct answer from the options given below:

1. (A), (B), (D) and (E) only.
2.(B), (C) and (E) only.

3. (A), (D) and (E) only.

4 (B), (C), (D) and (E) only.
Options :

22742787689. 1
22742787690. 2
22742787691. 3

22742787692. 4

Question Number : 49 Question Id : 22742722509 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements about the sculpture of the wooden horse are correct?
(A). The horse is loaded with goods of people.

(B). It has been made in paper méache style.

(C). It has been made by a Kashmiri artist.

(D). It shows a fallen horse.

(E). It depicts the pain experienced by the people during the partition migration.
Choose the correct answer from the options given below:

1. (A), (B) and (D) only.
2. (B), (C) and (E) only.
3. (B)and (C) only.

4 (C), (D) and (E) only.
Options :
22742787693. 1
22742787694. 2
22742787695. 3

22742787696. 4

Question Number : 50 Question Id : 22742722510 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I); The museum at Dara Shikoh library tries to capture the pain of partition.

Statement (Il): Rehabilitation was not a struggle for the displaced migrants.

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I) are correct.

2. Both Statement (1) and Statement (Il) are incorrect.
3. Statement (1) is correct but Statement (I1) is incorrect.
4. Statement (1) is incorrect but Statement (1) is correct.

Options :



22742787697. 1
22742787698. 2
22742787699. 3

22742787700. 4

Question Id : 22742722505 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 22742722506 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742787681. 1
22742787682. 2
22742787683. 3

22742787684. 4

Question Number : 47 Question Id : 22742722507 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742787685. 1
22742787686. 2
22742787687.3
22742787688. 4



Question Number : 48 Question Id : 22742722508 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742787689. 1
22742787690. 2
22742787691. 3

22742787692. 4

Question Number : 49 Question Id : 22742722509 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742787693. 1
22742787694. 2
22742787695. 3
22742787696. 4

Question Number : 50 Question Id : 22742722510 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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22742787697. 1
22742787698. 2
22742787699. 3

22742787700. 4
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Question Shuffling Allowed :
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Question Number : 51 Question Id : 22742722511 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742787701. 1
22742787702. 2
22742787703. 3

22742787704. 4

Question Number : 51 Question Id : 22742722511 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :
22742787701. 1
22742787702. 2
22742787703. 3

22742787704. 4

Question Number : 52 Question Id : 22742722512 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0
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Options :

22742787705. 1



22742787706. 2
22742787707. 3

22742787708. 4

Question Number : 52 Question Id : 22742722512 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :
22742787705. 1
22742787706. 2
22742787707.3

22742787708. 4

Question Number : 53 Question Id : 22742722513 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options:
22742787709. 1
22742787710. 2

22742787711.3



22742787712. 4

Question Number : 53 Question Id : 22742722513 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :
22742787709. 1
22742787710. 2
22742787711. 3

22742787712. 4

Question Number : 54 Question Id : 22742722514 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
AT EF A dalS Miaa Slig TR dlasl) u—"
|
Ixise .3

a4
Options:
22742787713. 1
22742787714. 2
22742787715.3
22742787716. 4



Question Number : 54 Question Id : 22742722514 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
M gdie " dals Miaa LS gaie" dlaad) B
b ]
xisa 3

» o4
Options :
22742787713. 1
22742787714. 2
22742787715. 3

22742787716. 4

Question Number : 55 Question Id : 22742722515 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Wk 8588 dai)) Juadl) (4 1
Ol 5 e a5 Joadll 3 2
L Sde 43l Juadll 3 3
Ll i &35 Juaill 3 4
Options :
22742787717. 1
22742787718. 2
22742787719. 3

22742787720. 4

Question Number : 55 Question Id : 22742722515 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0
sl Laa daaial) dlaald) e
L 2 23 ol 3 ]
ol 5 e d4ad ) J..aﬂlu-'l ¥,
L S 4a33) Juail) 3 3
Gl Sie ) Juadll 2 4
Options :
22742787717.1
22742787718. 2
22742787719. 3

22742787720. 4

Question Number : 56 Question Id : 22742722516 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

seiad Magaigll JEY) Gl daat Alaad)

Aaaigd) ‘__,;_'\La“ﬂ e Jra taal
Agaigll e ) i desl]
Agigdl e e e deal
Agaigh Y 3 Jaey dea]

B L b —

Options :

22742787721. 1
22742787722, 2
22742787723. 3

22742787724. 4

Question Number : 56 Question Id : 22742722516 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



teiad Mg ALY Gag daai™ ddaall
Agigll e e dray 2eal
Apigh Y ) daay 2l
Agaigh ALY L Jiay daal]

B L b —

Options :

22742787721. 1
22742787722. 2
22742787723.3

22742787724. 4

Question Number : 57 Question Id : 22742722517 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

4u 2l J) ghea 5 "By companies from both the countries" 3 ks
Cpaldd) S e S Hd J8 (e ]
Ol e S S 5l 8 e 2
Ol S e IS5 U e 3
Lag S palil) (e S 55 Jd (e 4
Options :
22742787725. 1
22742787726. 2
22742787727. 3

22742787728. 4

Question Number : 57 Question Id : 22742722517 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4n 2l ) Wiaa 5 "By companies from both the countries" 3_ts
(Cpalall IS (e SIS 5 U8 e L]
Ol (e JS IS i 8 e 2
Ol S (e S 58 U (e 3
LagflS bl e S 58 J8 e 4
Options :
22742787725. 1
22742787726. 2
22742787727. 3

22742787728. 4

Question Number : 58 Question Id : 22742722518 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

s4u all ) WSaa 5 " Arbitrary arrest" 5L

b Jaie) ]
L_;i...u_“'n Jaic) 3
a8ai Jliic) 4

Options:

22742787729. 1

22742787730. 2

22742787731. 3

22742787732. 4

Question Number : 58 Question Id : 22742722518 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



24 ad) Al ghea 5 " Arbitrary arrest" 8L
= f ke ]
o Jiich 2
it Qi) 3
aSad Jiic) 4

Options :

22742787729. 1
22742787730. 2
22742787731.3
22742787732. 4

Question Number : 59 Question Id : 22742722519 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
1A YL slina V' 5 e (3" relhaaa

Exclusive right .1

Limited right .2

Special right .3

Exceptional right .4

Options :

22742787733. 1
22742787734. 2
22742787735. 3

22742787736. 4

Question Number : 59 Question Id : 22742722519 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



3111‘),,!15-”14 - u‘;‘}m d;n @L‘m
Exclusive right .1
Limited right .2
Special right .3
Exceptional right .4

Options :

22742787733. 1
22742787734. 2
22742787735. 3

22742787736. 4

Question Number : 60 Question Id : 22742722520 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
24yl L slina " ¢) ) £ D" pllaaa.
Studying the idea .1
[nvestigating the idea .2

Looking for the idea .3
Opinion poll .4

Options :

22742787737. 1
22742787738. 2
22742787739. 3

22742787740. 4

Question Number : 60 Question Id : 22742722520 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



24 SISV olina " g )1 5kl e
Studying the idea .1
Investigating the idea .2
Looking for the idea .3
4

Opinion poll .
Options :
22742787737. 1
22742787738. 2
22742787739. 3
22742787740. 4

Question Number : 61 Question Id : 22742722521 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

1) dgand) A sy La pa (1) dgand) A La Jua

(<) ()
To surrender I S|
To be safe and sound 2 b | o
To handover 3 p Xl | &
To takeover 4 pbaiul |2
4-3 3-g 2-ca¢]- 1
itosid g 342 2
«4-2 Ll-G f-z-kf'l ‘-3-1 kL
i sl

Options :

22742787741. 1
22742787742, 2
22742787743. 3

22742787744. 4



Question Number : 61 Question Id : 22742722521 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

() el (B Asliy La pa (1) 2gead) B e Jua

(<) (7
To surrender ] Sk |
To be safe and sound 2 i | o
To handover 3 Al |
To takeover 4 aSkudiul 3
54-.'1 L3-E 52-9 r._]_-i l
r.]_-."l tél.-E r.3-~,1 52-1 2
o2 Ll-E o 53-1 3
t]-2 L3-E O l’.ril.-i 4

Options :

22742787741. 1
22742787742. 2
22742787743. 3

22742787744. 4

Question Number : 62 Question Id : 22742722522 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



sramall 7 g ) (s

Al W]
Jy Cadll 4 jseen | L
a2 0| el Ay jall dsledll | 2
dyia cussSlh 3
Ml dp gl paedy e | 4

Options :

22742787745. 1
22742787746. 2
22742787747.3

22742787748. 4

Question Number : 62 Question Id : 22742722522 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

sreamal) 7 g 31 (e

] KK
Jdy Oadl A sgen | L
a2 | Dagmad) dy el dcladl | 2
agia oSl 3
Jan| dpell jeedy)sges| 4

Options :

22742787745. 1
22742787746. 2
22742787747. 3

22742787748. 4



Question Number : 63 Question Id : 22742722523 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
salia) () gSAall Cpan palll (e Fmasall Gl gall (e
Ll (A jall pasds ) sean a8 ()
Ay pall paedy)seen daale a4y il (L)

e L3S (@), (1.3
e gt LS ()5 () 4

Options :

22742787749. 1

22742787750. 2

22742787751. 3

22742787752. 4

Question Number : 63 Question Id : 22742722523 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
salia) () gSAall Cpan palll (e Fmasall Gl gall (e
sl (3 A jall juaa Ay ) sean o :(1)
Ay pall paedy)seen daale a4y il (L)

e L3S (@), (1.3
e e LaadS ()5 (1) 4

Options :

22742787749. 1

22742787750. 2

22742787751. 3



22742787752. 4

Question Number : 64 Question Id : 22742722524 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
ri€ (0 dnand) il M) 408 LG Gl g Vi Jaad) alaS v Rl
Lalall ]
daall paliall 2

Ol sl e 4

Options :

22742787753. 1
22742787754. 2
22742787755. 3

22742787756. 4

Question Number : 64 Question Id : 22742722524 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
reli€ (8 Snand) il Ml ANE LG Gl g Vi Jhad) alaS gAY
balall ]
daadl (paalall 2

il ol e Jle 3
Sl peall e 4

Options :

22742787753 1
22742787754, 2
22742787755. 3
22742787756. 4



Question Number : 65 Question Id : 22742722525 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Ot 9 e A Mol ol (Bhaad (B (a0 53l OIS 5l 1aAD 12 o ™ J s
108 paladl
i=1;_*1_’1}:'% Bae b (p gl ]
aul (a2
S8l g E1_«_._~._i'| 3
Lyxaihe 4

Options :

22742787757. 1
22742787758. 2
22742787759. 3
22742787760. 4

Question Number : 65 Question Id : 22742722525 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
O g AJE Maluany ol (Slad (B (a0 gl IS ol 1a3IAM 130 o " g
108 paladl
gAY Bacbu (e ]
anl r k2
il ey (pplaall 3
LRt 4

Options:

22742787757. 1
22742787758. 2
22742787759. 3

22742787760. 4

Question Number : 66 Question Id : 22742722526 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

2 ) a3 a3 g ) il Aasanal) A ganall 0
Jaalall
Aranll ploc
R e
e (pembiall -a

E L b ol
- EC el [

n_liC ;i [

B b —

ligHEJLE
Options :
22742787761. 1
22742787762. 2
22742787763. 3

22742787764. 4

Question Number : 66 Question Id : 22742722526 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

et U i A caen £ LY B g ) 53 Aaaall de ganall (1
Laladl
Aaall fploc
el Gl s 2
e pealall -

= 0y gl
{ -
a EC el L

n_liC &i .

B W b=

i e L
3 L
Options :

22742787761. 1



22742787762. 2
22742787763. 3

22742787764. 4

Question Number : 67 Question Id : 22742722527 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1() dgand) (B Al La pa (1) 2gand) 2 La Jua

(<) ()
J:i.i...n.'lll ;T].‘.Srl | é_y‘}:.jl‘-_rh:uuyum1m II
L})ﬂl’l_‘aﬂlz c.iﬁ.n“ﬁgldm;}c. L

SleY JiS | 4 wyue ol o2
2-2¢l-g b=l ]
2-3 4z e]-23-1 2
1-2 2 3= ¢4l 3
1-2 3z 2-24-1 4

Options :

22742787765. 1
22742787766. 2
22742787767. 3

22742787768. 4

Question Number : 67 Question Id : 22742722527 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1(2) 2gand B Al La ga (1) 2 andl A Le Jua

(<) ()
sl Y 1| sl e o adill daaa|
il sdall | 2 adial) Cpl il e | o
d.abij'l .r-:.ll.lh_gl ,_; ,;__'..n'|_’,.ij|l 523 ‘_:,'_11.@_1...:‘:“ E-}dl _9.1|I 'd
Sy | 4 a3 yue cpl| o2
2-3¢l-z -2l 1
2-3 4z <12 3-1 2
[-2 2 3=z ¢4l 3
4

1-3 3=z «2- 4|
Options :
22742787765. 1
22742787766. 2
22742787767. 3

22742787768. 4

Question Number : 68 Question Id : 22742722528 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
D alad) juanll plibad (ha
Y Bacli (8 ]
bl (p jee 2
ks o g Je 3
il G gy 0 rlaall 4
Options :
22742787769. 1
22742787770. 2
22742787771. 3

22742787772. 4



Question Number : 68 Question Id : 22742722528 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

L Rl el plidad (ha
Eg.“ﬂ._;}"l Backl (e ]
Cadll (p jee 2
Qb o e 3
Sl G g (p rlaall 4

Options :

22742787769. 1
22742787770. 2
22742787771.3

22742787772. 4

Question Number : 69 Question Id : 22742722529 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

gaall £ 7 o O

(<) ()
KRN g (uilaall Lalall| ]
Alaall o g aladgal |2
Claliall | Sliegl) Gla i aan | 3
paibasll gyl gy | 4

Options :

22742787773. 1
22742787774. 2
22742787775. 3

22742787776. 4



Question Number : 69 Question Id : 22742722529 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gl S 753 e

(<) ()
Al g ksl Lalali| ]
Alaadl o) g alaigdl | 2
Claliall | Slegl) Glajll | 3
pailadd) gsaall 0y | 4

Options :

22742787773. 1
22742787774. 2
22742787775. 3

22742787776. 4

Question Number : 70 Question Id : 22742722530 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
;eﬁiﬁmwﬁngth#u:,j "JLm:En‘?'pfds g&j@._’.ﬂrl" (.

=

L__?jj.s.uinaj ;

j3
e
e
B b~

Options :

22742787777. 1
22742787778. 2
22742787779.3

22742787780. 4



Question Number : 70 Question Id : 22742722530 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
s )_AENL Al Al (e )l JlA daa 5 ALY ale B e gall" IS

iy ) sl yee

laadl HSLE

B R

Options :

22742787777. 1
22742787778. 2
22742787779. 3

22742787780. 4

Question Number : 71 Question Id : 22742722531 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
lgad g "B (o3 ) )" Ay add) A jusal)
) sl yee ]
5 2 5ana )
sl dll ae 3
25l el 35aas 4

Options:

22742787781. 1
22742787782. 2
22742787783. 3

22742787784. 4

Question Number : 71 Question Id : 22742722531 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
gy "' B (g3 bl )" ) L juual
Ay sl yee ]
U5 )2 3 sana )
ol A e 3
LEJJJLﬂ1q,d¢u:JA;4_4
Options :
22742787781. 1
22742787782. 2
22742787783. 3

22742787784. 4

Question Number : 72 Question Id : 22742722532 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

rialls 1l 9 4B i

ol e 4

Options :
22742787785. 1
22742787786. 2
22742787787. 3

22742787788. 4

Question Number : 72 Question Id : 22742722532 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0
il (e 1) ) B g
il antsll o 2
ol e 4
Options :
22742787785. 1
22742787786. 2
22742787787. 3

22742787788. 4

Question Number : 73 Question Id : 22742722533 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
1 98 o) allad) B Al £13 G2 jualdl Cigisa el el
ot 53 2mws daal e ]
8 I 2
s A3ana 3
(ol e 4
Options :
22742787789. 1
22742787790. 2
22742787791. 3

22742787792. 4

Question Number : 73 Question Id : 22742722533 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1 98 o) allad) B Al £13 G2 jualdl Cigisa el el
ot 53 2mws daal e ]
8l R 2
st 2gana 3
(ol e 4

Options:

22742787789. 1
22742787790. 2
22742787791. 3
22742787792. 4

Question Number : 74 Question Id : 22742722534 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
1) dgand) B dsuliy La pa (1) 2 gand) B La Jua

(<) ()
KB U I FE ]
dilldgdle | 2| Gl ae | @
il 3k 3] 3 JMshssd | ¢
4_.'1 t}-G 52-\7" . ]_-i 1
J=a L4-E % - 52-1 2
" l-z Sl 3-1 .3
2_.'1 t]_-G 53-\7" 54-1 4

Options:

22742787793. 1
22742787794. 2
22742787795.3

22742787796. 4



Question Number : 74 Question Id : 22742722534 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
1) 2and) A daaliy La pa (1) 2 gand) A La Jua

(<) ()
MFSITESTI S|
Jlide | 2| Jsudldae o
il @k )3 Qlsh g8 | #
Sl | 4 L N | PEL 5

4-2 3-z «2-2 1]
1-3 ¢4z 3= 62
4-3¢1-g 2 ¢3-]
2-3¢1-z ¢3-¢2 ¢4

B S

Options :

22742787793. 1
22742787794. 2
22742787795. 3

22742787796. 4

Question Number : 75 Question Id : 22742722535 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
104 Jgali dgana alBl)
Al 3
Losa 4

Options:
22742787797. 1

22742787798. 2



22742787799. 3

22742787800. 4

Question Number : 75 Question Id : 22742722535 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
1 ) gadi 3 gana (aldll
]
Gl 2
B BN
Loss 4
Options:
22742787797. 1
22742787798. 2
22742787799. 3

22742787800. 4

Question Number : 76 Question Id : 22742722536 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
sl e LAY & plaall™ Al g

BBt |
J\.‘*u.uﬂ LAREN _‘n:'n.na..h AT R

S a3
il s e 4
Options:
22742787801. 1
22742787802. 2
22742787803. 3

22742787804. 4



Question Number : 76 Question Id : 22742722536 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

et A LR WA | FE N PON (LU I P

LB RP_ TN |
JL&mﬂ 23 g -‘l_._'l.n_“h.li.1 LT,

oS s 3
Gm.asll sie 4
Options :
22742787801. 1
22742787802. 2
22742787803. 3

22742787804. 4

Question Number : 77 Question Id : 22742722537 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

G e M A (Bdas s
J5aD 2 gana

AE LS

o) g

o3l e Glual

B W R -

Options:

22742787805. 1
22742787806. 2
22742787807. 3

22742787808. 4

Question Number : 77 Question Id : 22742722537 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

sl (e " ad) (Bdan' s
DAl 3 sana

RE LS

BEBLEE TR

ool ne Gl

B W b

Options :

22742787805. 1
22742787806. 2
22742787807. 3
22742787808. 4

Question Number : 78 Question Id : 22742722538 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

DS Ol Ga b ARl Aldagd) Gl ) g ()
S daall e ]

Jualill olall 2
Lenll ol 4

Options:

22742787809. 1
22742787810. 2
22742787811. 3

22742787812. 4

Question Number : 78 Question Id : 22742722538 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

D e Gadl) Ga B ldagd) Gla 3l o
CSH yeall ne (]

Jusldll el 2
Lanll ol 4

Options :

227427878009. 1
22742787810. 2
22742787811.3

22742787812. 4

Question Number : 79 Question Id : 22742722539 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
+die Ol Aaald) A Jao

L p Al ]
Sl ae o addis 2

ol ae O pee 3
a0l e 4

Options :

22742787813. 1
22742787814. 2
22742787815. 3
22742787816. 4

Question Number : 79 Question Id : 22742722539 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



saie Ol Aaald) A Jas

B3R agsles ]
Sl ne o ladds 2

Josllae p jae 3
eaa (B Ols e 4

Options :

22742787813. 1
22742787814. 2
22742787815.3

22742787816. 4

Question Number : 80 Question Id : 22742722540 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
iyl ¢y "y ) 488" 4yl
Dbl B ga daall ne ]
e )
ﬁ..aﬂl e 3
dSs (s 2eas 4

Options:

22742787817. 1
22742787818. 2
22742787819.3

22742787820. 4

Question Number : 80 Question Id : 22742722540 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



il cpa Ay ja) Ra g
j.‘\.....l]\ 23 -"l_._'l.nAJ1 LT |
L siae i 2
Options :
22742787817.1
22742787818. 2
22742787819. 3

22742787820. 4

Question Number : 81 Question Id : 22742722541 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
2oL} (ha gSall (aa pualll (6 gaual) ol sl e

A e pl g g gmas Y Gl ) A Al Casia Gl e ()
_HHLJHQJA"LJESAiiMJJ
i : .

e L3S ()5 () .1
e e () iaa {i]-z
e nt LaadlS ()5 (1) 3
gaa (D)5 a2 (1) 4

Options :

22742787821. 1
22742787822. 2
22742787823.3

22742787824. 4

Question Number : 81 Question Id : 22742722541 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

20l (hy sShall (g !l (6 pmamal) il sall (i
A e al g gagma Y Gl gl Al i Ges M1 2 ()
_”7d.n.li.|| [_'J.‘n.n" I._IESAJ. '(“—"J
L.

e LS ()5 () .1
e e (D) iaa {51-2
e 6 LS ()5 (1) 3
T ()5 a2 (1).4

Options :

22742787821. 1
22742787822. 2
22742787823. 3

22742787824. 4

Question Number : 82 Question Id : 22742722542 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Csleadia Cpalle Lak) g cmal) g jrdl) G Saald T2 aidy A1) LY
raayl ]
Sl sl gl 2

edall o e ool 3
Ayl sl 4

Options :

22742787825. 1
22742787826. 2
22742787827.3

22742787828. 4

Question Number : 82 Question Id : 22742722542 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Cileadia Cpalle Lak) g Cal) g el G Slald Tia 2l o) S8
syl ]

& Skl k_}.'l___}.nt-—j.‘lll 3

Options:

22742787825. 1
22742787826. 2
22742787827.3
22742787828. 4

Question Number : 83 Question Id : 22742722543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

s pand) (85 pa Jo¥ ) add) B (adldlll & el

el (]
;:;j-n;ﬂ .
eyl 3
Lslall 4

Options:

22742787829. 1
22742787830. 2
22742787831. 3

22742787832. 4

Question Number : 83 Question Id : 22742722543 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



rpand) (A5 e JgY ol adll (B Qi) o ek
uball ]
;3;3-0;3“ 2
eyl 3
sl 4

Options :

22742787829. 1
22742787830. 2
22742787831. 3

22742787832. 4

Question Number : 84 Question Id : 22742722544 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

2() dgand) A Al La ga (1) 2gand) 2 La Jua

© 0
bl eS| ] Sl o s |
el selall| 3 AT
s 3aYl eldll | 4 aalis gl | 2
3-3¢l-z 4221 1
-3 idog 32 2
4-.‘1 L]_-E 52--.71 53-1 3
4-.‘1 L]_-E LZ—\T'I 53-1 4

Options :

22742787833. 1
22742787834. 2
22742787835. 3

22742787836. 4



Question Number : 84 Question Id : 22742722544 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1) 2gand) A Auadiy La pa (1) 2gand) A La Jua

(<) ()

?Ml “}:.L;ﬂl 2 \_3_‘*_)‘)331 —
) eldll| 3 Sl |z
S3a¥l eldll | 4 dalas cpl | 2

3-.‘1 tl-E sﬁl.-g 52-1 1

1-3 o 3o 2] 2

4-a Ll-(""; 2 e

4-2¢l-z 2-23-) 4

Options :

22742787833. 1
22742787834. 2
22742787835. 3

22742787836. 4

Question Number : 85 Question Id : 22742722545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



1(2) 2sand) A Ay La pa (1) 250l 2L Jua

(<) ()
sl M) e | ] EENIETIY I
Cina Al | 2 Y Al Jeal | &
Aial) 2 gana (e | 3 sl ol | &
LEl raal | 4 i€l wcdeln | 2

4-2 3z 2~ el
(1-3 4z ¢3-2 (2]
43 ¢]-g 2 ¢3-]
3-3 ¢1-z ¢4 (2]

B Wb —

Options:

22742787837. 1
22742787838. 2
22742787839. 3

22742787840. 4

Question Number : 85 Question Id : 22742722545 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1(2) 2sand) A Ay La pa (1) 250l 2L Jua

(<) ()
gaall 23l e | ] EENIETIY I
Cina Al | 2 Y Al Jeal | &
Aial) 2 gana (e | 3 sl ol | &
LEl raal | 4 i€l wcdeln | 2

4-3 3z «2-c2 <]
(1-3 4z ¢3-2 (2]
43 ¢]-g 2 ¢3-]
3-3 ¢1-z ¢4 (2]

B b —

Options:

22742787837. 1
22742787838. 2
22742787839. 3

22742787840. 4

Question Number : 86 Question Id : 22742722546 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
sl "I AN Al B dad Juilda rgaly
sibiall g Al syl (]
saladl 5 ijm.i'l 2
L;L@E')’lj I__5_‘,.il.3.i'| 3
aadl s il 4
Options :
22742787841. 1
22742787842. 2
22742787843. 3

22742787844. 4



Question Number : 86 Question Id : 22742722546 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
sl "I AN AS B el Juili gss
sibiall g Al aayl ]
t._r“i'jlj u-‘:“j“-‘jl' 6
L;:bjai')’lj L_g_jjji'l 3
Al s il 4
Options :
22742787841. 1
22742787842. 2
22742787843. 3

22742787844. 4

Question Number : 87 Question Id : 22742722547 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
- Jla (KTY _"h‘).'i.“ & Sa By aplan :\.'LA'.:;.T'I.
el ]
5yl 2
apaill |3
sl 4
Options :
22742787845. 1
22742787846. 2
22742787847. 3

22742787848. 4

Question Number : 87 Question Id : 22742722547 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
- ;jlﬁ.a. (KT ,"h‘)ﬂ1l AT By adyar :U..na_.“
el ]
5l 2
apdill 3
<l 4
Options :
22742787845. 1
22742787846. 2
22742787847. 3

22742787848. 4

Question Number : 88 Question Id : 22742722548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
e Jlia Ay | "Jﬁ_}gﬁjﬁﬁj*ﬂ&i”&hﬁﬂ1dﬁ

aliadl ]
Je 2
clkyl 3
Gukll 4

Options:

22742787849. 1

22742787850. 2

22742787851. 3

22742787852. 4

Question Number : 88 Question Id : 22742722548 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
o Jlia 13a | ”Jﬁ‘)fn.hjmﬁgi*uni”ujh:iﬂ1dﬁ

aliadl ]
Jey 2
<Lyl 3
@ukll 4

Options :

22742787849. 1

22742787850. 2

22742787851. 3

22742787852. 4

Question Number : 89 Question Id : 22742722549 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
JUa o) 138 (Mol g dad) Gy dad) saa B CIS) (e p L] Gaeal i)™

-

: aall
cawall ]
Jalsll 2
Joshll 3
Lyl 4

Options :

22742787853. 1
22742787854. 2
22742787855. 3

22742787856. 4

Question Number : 89 Question Id : 22742722549 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Jlia udl 138 Meaalll g dad) (s aad) saa A - IS (G sl (aal )"

:
cawall ]
Jasll 2
Jighll 3
Lyl 4

Options :

22742787853. 1
22742787854, 2
22742787855. 3

22742787856. 4

Question Number : 90 Question Id : 22742722550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
DAL s A ga ) dl Al
aic dil m @aall S ]
die dil oy adll o jee 2
dde dil iy e (Ol 3
aic il mjycdds ol op e 4
Options :
22742787857. 1
22742787858. 2
22742787859. 3

22742787860. 4

Question Number : 90 Question Id : 22742722550 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



s Addal) age B gLl Ay
aic i) o Gl S ]
aic dll ey QUadll e 2

aic Al e (lie o oldie 3
aic dil ooyl ol 0 e 4
Options :
22742787857. 1
22742787858. 2
22742787859. 3

22742787860. 4

Question Number : 91 Question Id : 22742722551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ilad 5 clagila Jish Glalgs o) LA A
Jha¥ly 5

¥l 5 32 dl

Soalls e

Ol 5 3o

B b —

Options :

22742787861. 1
22742787862. 2
22742787863. 3

22742787864. 4

Question Number : 91 Question Id : 22742722551 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(a5 clagila Jish Glalgss o) LA A
Jha¥ly 5

Jlaa ¥ 5 3ol

Gy e

Qs 5 2

S

Options :

22742787861. 1
22742787862. 2
22742787863. 3
22742787864. 4

Question Number : 92 Question Id : 22742722552 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
U s el g Gl B el SE1 (e CullS B pud ) LA el
Jhalyl |1
32yl 2
ana 3 s 3
dnp )l (R jee 4

Options:

22742787865. 1
22742787866. 2
22742787867. 3

22742787868. 4

Question Number : 92 Question Id : 22742722552 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



U s el Gl B el SE1 (e S B pud ) L)) ally
Jhalyl |1
3oal 2
Jana O Jrea 3
day ) o 02 s 4

Options :

22742787865. 1
22742787866. 2
22742787867.3

22742787868. 4

Question Number : 93 Question Id : 22742722553 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Al ) ol ALY jana (e s
dclzi ]
asci 2
Jile 3
et 4
Options :
22742787869. 1
22742787870. 2
22742787871. 3

22742787872. 4

Question Number : 93 Question Id : 22742722553 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



iAled ) ol ALY jara O Jrad Auas

deld ]
s )

Olike 3

i 4

Options :

22742787869. 1

22742787870. 2

22742787871. 3

22742787872. 4

Question Number : 94 Question Id : 22742722554 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
$0."oall i el ple ) ol 5 o8 a5 (o uaiuald | igaa
Js8
G 1
Jixall ol 2
a3
s N 4

Options :

22742787873. 1
22742787874. 2
22742787875. 3

22742787876. 4

Question Number : 94 Question Id : 22742722554 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A"l el st e o) ol g ie el g dkaiald ) e Cigaa
Jst
Sl 1
sl ol
20 (p ok 3
s A Gl 4
Options :
22742787873. 1
22742787874. 2
22742787875. 3

22742787876. 4

Question Number : 95 Question Id : 22742722555 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1(2) 2sand) B Ay La pa (1) 2gandl B La Jua

(<) (")

alais | ] ol sl | )
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Options :
22742787877. 1
22742787878. 2

22742787879. 3



22742787880. 4

Question Number : 95 Question Id : 22742722555 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

2(9) dgand) (A Al La ga (1) 2gand) A La Jua

(<) ()

Alans | 1 ol sl |
2,<01| 2 ol il | o
a3 s MO | =z
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Options :

22742787877. 1
22742787878. 2
22742787879. 3

22742787880. 4

Question Number : 96 Question Id : 22742722556 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



148) gill g Ll LiiCa g Lo Al &b ) jeLddl
o5 sl L1
Eg-)"“"ill eall ol 2
s N O 3
il 4

Options :

22742787881. 1
22742787882. 2
22742787883. 3

22742787884. 4

Question Number : 96 Question Id : 22742722556 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
145) gil) g clalally LiiCa g Lo Al &b ) jeldd)
ol sh sl 1
,;T_n;‘)a_n.‘lll eSall gl 2
s M o 3
il 4

Options:

22742787881. 1
22742787882. 2
22742787883.3

22742787884. 4

Question Number : 97 Question Id : 22742722557 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



sl 1an JB eial) A S Al gl p) £) asll (B eyl dlic pan
ol g sl
gradl 2
il 3
s A 4
Options :
22742787885. 1
22742787886. 2
22742787887. 3

22742787888. 4

Question Number : 97 Question Id : 22742722557 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
sl ) JlB elall A IS AL Liglag - gl ) aglll LB gl dlic £ AT
s sl
g il 2
sl 3
sl O 4
Options :
22742787885. 1
22742787886. 2
22742787887. 3

22742787888. 4

Question Number : 98 Question Id : 22742722558 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o) ol g plAlAL) g labuad) Clis dssadly Bl A8 (e Ade _—= L‘;."J'r el
H(LA)) e b
ana O es ]
2R 2
Aay) ol (e 3
32l 4
Options :
22742787889. 1
22742787890. 2
22742787891. 3

22742787892. 4

Question Number : 98 Question Id : 22742722558 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
U'“ sldi g pLALAT) g culalad) bl dandls el A (e Al il L‘;."J'n ekl
(LA £ 3ae b a
Jena (3 Jrea ]
2r 2
day ) Il (p jac 3
G2l 4
Options:
22742787889. 1
22742787890. 2
22742787891. 3

22742787892. 4

Question Number : 99 Question Id : 22742722559 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



At J) ABMAL 1 adiad) A GBLA  7SAN 0 )99 JS ghal) ABAY) Jiha e
Gaiiad ]
3 yadl 2
Lpl.uh 3
s 4

Options :

22742787893. 1
22742787894. 2
22742787895. 3

22742787896. 4

Question Number : 99 Question Id : 22742722559 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
rddsda J) ABAL 13 adiad) A GBLA Sl 5 )99 JS glal) ABAY) JiRa ey

(e 1

ﬁ‘}l.ﬁ-“ :
LJ.‘I'I.‘I.nlll 3
s 4

Options :

22742787893. 1
22742787894, 2
22742787895. 3
22742787896. 4

Question Number : 100 Question Id : 22742722560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Al oA Jaamal) dpaddl)

ardll A g aie Cada L ]
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Options :

22742787897. 1
22742787898. 2
22742787899. 3

22742787900. 4

Question Number : 100 Question Id : 22742722560 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
A 9A Jaanall dgudil)
andll da g4t cada Lo ]
Bla¥lad o 3L 2
BlaY) aie Cadds Le 3
Aulll da g5 BlaY) Al cdda L 4
Options :
22742787897. 1
22742787898. 2
22742787899. 3

22742787900. 4

Question Number : 101 Question Id : 22742722561 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



atiall ]

Gkl 2

oalaEyl 3

aauadl 4

Options :

22742787901. 1
22742787902. 2
22742787903. 3

22742787904. 4

Question Number : 101 Question Id : 22742722561 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A3l Clicaall (e (uad
patiall ]
Gkl 2
oaladyl 3
el 4
Options :

22742787901. 1
22742787902. 2
22742787903. 3

22742787904. 4

Question Number : 102 Question Id : 22742722562 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



sl ale £ 6 Gy gl
Jadl
a)5il 2
Bkl 3
el s 4
Options :
22742787905. 1
22742787906. 2
22742787907. 3

22742787908. 4

Question Number : 102 Question Id : 22742722562 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g ol 1531 o ol
BIFOAINS |

4,4l 2
Gkl 3
Jaledll (s 4
Options :
22742787905. 1
22742787906. 2
22742787907. 3

22742787908. 4

Question Number : 103 Question Id : 22742722563 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Options:

227427879009. 1
22742787910. 2
22742787911. 3

22742787912. 4

Question Number : 103 Question Id : 22742722563 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
) pddl ) san axe

Options :

227427879009. 1
22742787910. 2
22742787911.3

22742787912. 4

Question Number : 104 Question Id : 22742722564 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



;l,l.jﬂ e Cpa ud

Jusll 1

sizall 2

plsll alai 3

alball 4

Options:

22742787913. 1
22742787914. 2
22742787915. 3

22742787916. 4

Question Number : 104 Question Id : 22742722564 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
roiY) pualie Cpa ud
Juall 1
sieall 2
psll alai 3
alball 4

Options :
22742787913. 1
22742787914. 2
22742787915. 3

22742787916. 4

Question Number : 105 Question Id : 22742722565 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1() dsand) B Al La aa (1) 25and) AL Jua,

(<) (")

PECEN{PY P TRVEDY Iy el all | i
ool plallae | 21 gl el s | o
g Sl D 5l | 4 el el ciligha | 2

¢]-22-7 3- 4-1 .1

& l-.‘n uil.-E 53--.71 52-1 2

¢2-a¢] -z e 53-1 3

. ]_-."| t}-c 52-9 54-1 4

Options:

22742787917. 1
22742787918. 2
22742787919. 3

22742787920. 4

Question Number : 105 Question Id : 22742722565 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1() dsand) B Al La aa (1) 25and) AL Jua,

(<) (")

Sl el ae | 2 G Rl el dlaa | o
s2a¥) auldll o | 3 Al oyl | =
@ Sl a4l | 4 el el ciligha | 2

¢]-22-7 3- 4-1 .1

sl-.‘l uil.-E 53--.71 52-1 2

2-3¢]-g 4-2 31 3

n]_-."n t}-c 52-9 54-1 4

Options:

22742787917. 1
22742787918. 2
22742787919. 3

22742787920. 4

Question Number : 106 Question Id : 22742722566 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
198 Ml Adash' QUK Al g aoedd) cilileall s 8 Ak g oA gaigd) allal)
el 3l e ]
gl G Jud 2
$ 548 Jlgdl Guall yinid 3
el ol )5l 4
Options:
22742787921. 1
22742787922, 2
22742787923.3

22742787924. 4



Question Number : 106 Question Id : 22742722566 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
198 <A diaal) Adash' QUK Al g aoed) cilileall s 5 Ak g oA gaigd) allal)
el 3l e ]
bl Ll s Jumd 2
$ 58 kel (pual) yad 3
el ol )5l 4
Options:
22742787921. 1
22742787922, 2
22742787923.3

22742787924. 4

Question Number : 107 Question Id : 22742722567 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
c.Jl.’\dLguﬂl jm_._li u:.mu.ﬂu?.ﬁ ..g.:.susf‘.}ugu i.u“,ugéw;,a q-lﬁ i.JL.J'..
198l Adly ) e A0S oS o S (ay
$ o5 el (el i ]

‘__Fﬁ'lﬂ'l Cpll daea 2
azall g jall e 3
E;J;ﬂl f,LLa AP |

Options:

22742787925. 1

22742787926. 2

22742787927.3

22742787928. 4



Question Number : 107 Question Id : 22742722567 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ZlS Jliiy gl glads) fdana (B af (00 S0 Al A pda (B ) A alladl
t A <l Adly ) gaa A0S o 60 S (ay

S5 ) Guall s ]

A () a2

ezl el ne 3

533 AL deaa 4

Options :

22742787925. 1
22742787926. 2
22742787927. 3

22742787928. 4

Question Number : 108 Question Id : 22742722568 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Sl a1t Mall 8 sl £ o (B () Guladi® i
gLl pall s Jimi ]
4l g olidl 2
el el ol e W32 3
o AL 535 (o= pe 4
Options :
22742787929. 1
22742787930. 2
22742787931. 3

22742787932. 4

Question Number : 108 Question Id : 22742722568 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
TG Ga ¢ tlall A sl £ gl B A Gulall" Gl
3Ll all Ga Jumd ]
il L_;_g. oLl 2
el ol ol e W3 3
o A 52 (i e 4
Options:
22742787929. 1
22742787930. 2
22742787931. 3

22742787932. 4

Question Number : 109 Question Id : 22742722569 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

s Ol o el (8 pamall ol gl e
_"‘__]..;.j)a_i'l CE” s Eg;fu“)j'l ‘_fg.u;ﬂ i?_g_‘).‘nll.ﬂl lamas (P gaal ja ;__:-u.:u]l =3 *(1]
-L:a—"]"'“"ﬂ "alastyin n_IESj CJ.:.I gL L}HJ‘)AJJ CE” —lis ‘(l._'l)

e o (<) e () 1
e () a2 (1) 2
Teaaa Laa 28 ()5 () 3

e e LadS ()5 () 4
Options:
22742787933. 1
22742787934. 2
22742787935. 3

22742787936. 4

Question Number : 109 Question Id : 22742722569 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

2 Ol o el (8 gaall ol gadl e
Mosgonll ZU" QS o S sl (g 5alall dass (1 (aial je el puia g :(i]
(aall Mala It KT - b g g all 2B LS (D)

gane 2 (<) e () |1
e () a2 (1) 2
Teaaa Laa 38 ()5 () 3

e e LadS ()5 () 4
Options:
22742787933. 1
22742787934. 2
22742787935. 3

22742787936. 4

Question Number : 110 Question Id : 22742722570 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
tasall Jajall aad IO Jaanst s
il ekl i ]
Sl AL 55 2
Faoull A lis 3
asll &S 4
Options :
22742787937. 1
22742787938. 2
22742787939. 3

22742787940. 4

Question Number : 110 Question Id : 22742722570 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
:rtasall Jjal) aal IS daans s
i) ol e i
Sl Al 55 2
Foul 4 ulis 3
aall A4S 4
Options :
22742787937. 1
22742787938. 2
22742787939. 3

22742787940. 4

Question Number : 111 Question Id : 22742722571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
2() 2sand) B dualiy La aa (1) 2 gand) B La Jua

(<) ()
aall el e | ] Olgniiy Sigay | |
65 Jlall ekl Lmldll | 2| i pams JOT 8 (s yall dagi | G
‘_;E_nl‘_).nlﬁll _‘*|I_JI ‘_A:. (m:}l.:- 4 4:\]} LnJ e sl _9.11 3
[-22-¢ 3-ced-l 1
1-3 4-z 3-22-1 2
1-3¢2-z «4-2¢3-1 3
1-33-z 2-2¢4-1 4

Options :

22742787941. 1

22742787942. 2



22742787943. 3

22742787944. 4

Question Number : 111 Question Id : 22742722571 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
() dpand (B daliy Ln g (1) an)) B La o

(<) ()
il el ae | Clguliy Cigay| |

Lﬂjmuﬁﬂ1.hjmy1 3 _‘.Saj'lj_‘.lhﬂ'lj._jLJ z
el aldl) o) 3 e J3e | 4 all LageSall gl | 2
1-2¢2-z 3= ¢4l ]
1-2¢4-7 3-=<2-1 2
1-3¢2-7 «4-2¢3-1 3
1-23-7z «2-=«4-1 4
Options :

22742787941. 1
22742787942. 2
22742787943. 3

22742787944. 4

Question Number : 112 Question Id : 22742722572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



10 g Al Aalad) elad)

Slllaiall ¢ lll ]
Clsleall gl g2l 2

&'43:..1\ l._'.'l_-x.h.a'l 3

Options :

22742787945. 1

22742787946. 2

22742787947. 3

22742787948. 4

Question Number : 112 Question Id : 22742722572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
10 s Add) JAalad) el
Clileall ¢l g2l 2
\;ll._]__.li.j:..’lll l._'.ll_\.h.:'| 3
,;_"..::ﬁu._'all .;L}.L:J 4
Options :
22742787945. 1
22742787946. 2
22742787947. 3

22742787948. 4

Question Number : 113 Question Id : 22742722573 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1 JB o amg Adllas o gBIS (0 g pac A

A (g pec ]

Olanill o 35 2
ol O3 g3 (a3
el (o leadll 4

Options :

22742787949. 1
22742787950. 2
22742787951. 3

22742787952. 4

Question Number : 113 Question Id : 22742722573 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
s JB ) dmy ATlea o gilS o g e AL

U p g pee ]

Olaadll (g 3l 2
ol O g3 (a3
el (p lansll 4

Options :

22742787949. 1
22742787950. 2
22742787951. 3

22742787952. 4

Question Number : 114 Question Id : 22742722574 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



sl 138 B M e (a2 ey 28 g - 4B g B e (AU 05"
utill 3 pal 2
r.|-_}:1 Jngti 3

A reaS 4

Options:

22742787953. 1

22742787954, 2

22742787955. 3

22742787956. 4

Question Number : 114 Question Id : 22742722574 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
sl 138 Qi 1 g (e G ey i Jgd - AB) g B e (AU ) 5"
ol ) o ]
ol 3 el 2
el i i 3
B peasS 4
Options :
22742787953. 1
22742787954, 2
22742787955. 3

22742787956. 4

Question Number : 115 Question Id : 22742722575 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



s ilile ) I.T'nl:uai Cra gl
Az (2l ]
Sl datill 2
dall (pdd a3
J:‘S;BT" Ui el 4
Options :
22742787957. 1
22742787958. 2
22742787959. 3

22742787960. 4

Question Number : 115 Question Id : 22742722575 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Glilaall Glaval (e sl
Ay ]

Sl il 2

2l (5348 )k 3

J:"S“BT" i el 4
Options:
22742787957. 1
22742787958. 2
22742787959. 3

22742787960. 4

Question Number : 116 Question Id : 22742722576 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



i) £ aldl G
3—&14_;.._-.-.*1;%#}-?-: |
pasgadl 2
Jama (p Jrea 3
25 cp <l 4

Options :

22742787961. 1
22742787962. 2
22742787963. 3

22742787964. 4

Question Number : 116 Question Id : 22742722576 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
i) 5l alll G
dan o O gae o
gasayl 2

Jars (p ran 3
e cpdlldl 4

Options:

22742787961. 1
22742787962. 2
22742787963. 3

22742787964. 4

Question Number : 117 Question Id : 22742722577 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



r 98 "o ad) g alad ol O A gall" Jga LUS aulng 4Mt¢ﬂt‘4§mm
E;;A‘y! P....ﬂ_'ii'l PO |
ol jalll ae 2
ol g o 3

exeall a3l ol 4
Options :
22742787965. 1
22742787966. 2
22742787967. 3

22742787968. 4

Question Number : 117 Question Id : 22742722577 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

94 s”‘_‘;‘;n._d'l j?m,g-_'li O A 31 gl JPUSSEAJ éﬂigaﬂ‘lﬁm'n
k_f;_"..«:ﬁg'l P.;.uti.i'l 3 ]
Glaall il ac 2
Haodll Gl 04l 3

el O ) 4
Options :
22742787965. 1
22742787966. 2
22742787967. 3

22742787968. 4

Question Number : 118 Question Id : 22742722578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



;"g.".hl‘l'l el 23 Ga day

A ks ]

J_-]:‘SI'-,‘ 2aal L=r1:‘ -3

asall G g 4

Options :

22742787969. 1
22742787970. 2
22742787971. 3

22742787972. 4

Question Number : 118 Question Id : 22742722578 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

:"gd'-hl" CJ-\.MJ‘I" JijJ Cpa 3.'!,}

il e ]

_)_-!:‘SI'-,‘ daal g:rl:‘ 3

aSall Ga g 4

Options :

22742787969. 1
22742787970. 2
22742787971. 3

22742787972. 4

Question Number : 119 Question Id : 22742722579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:LﬁjﬁgJﬂyﬁ,}jﬁwgﬁaﬁqﬂm1ﬂsM|@
[__)ujjjdﬁlliu.u )
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fezea
Options:

22742787973. 1

22742787974. 2

22742787975. 3

22742787976. 4

Question Number : 119 Question Id : 22742722579 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ll LS a2t ) 85 e (i pasall Aaaial) 48 ganall (6
[_.?"jjj Al s _1
el g e
afSall 540 =

Jgall Jgana D

I
T TRy
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ez
Options :

22742787973. 1

22742787974. 2

22742787975. 3

22742787976. 4



Question Number : 120 Question Id : 22742722580 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
gl g Asanal 4 gana " Jua G YT Gl
O ada | ]
(il anlis 2
Qe SH e 3
Options :
22742787977. 1
22742787978. 2
22742787979. 3

22742787980. 4

Question Number : 120 Question Id : 22742722580 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
g 5 hancl A gana "B o I ooliS
C Guaab ]
(o) 2l 2
Qe a Sl e 3
o) > 4
Options :
22742787977. 1
22742787978. 2
22742787979. 3

22742787980. 4

Question Number : 121 Question Id : 22742722581 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
A58 o gf AL A yena
2L el e ]
Jyef leaa D

asSall 3855 3

Cle Sl e 4
Options :
22742787981. 1
22742787982. 2
22742787983. 3

22742787984. 4

Question Number : 121 Question Id : 22742722581 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
L5 g gf AL A pena
L 2aal e ]
J5a8 deaa D

pSall 3855 3

Qe a Sl e 4
Options :
22742787981. 1
22742787982. 2
22742787983. 3

22742787984. 4

Question Number : 122 Question Id : 22742722582 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



sie A al) Lal jal) (v 3a puSal) (3855 pliay
Opas ada ]
$)SS Je 3
Gibb —ux 4

Options :

22742787985. 1
22742787986. 2
22742787987. 3

22742787988. 4

Question Number : 122 Question Id : 22742722582 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
335 g ) L)) a'sa pifal) (3855 in
Cpas ada ]
GSa e 3
Gibb = 4

Options:

22742787985. 1
22742787986. 2
22742787987.3

22742787988. 4

Question Number : 123 Question Id : 22742722583 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



LS (Al Aa M) Cla paall (e MM dana! A pess
- S deal e ]
ALl a5e 2
alall 3843

Options :

22742787989. 1
22742787990. 2
22742787991. 3

22742787992. 4

Question Number : 123 Question Id : 22742722583 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
(S AN Ada Al Cilia jusall (pa e’ Aia e
J;GSL; sl ‘:rl:. N
ALl pie 2
alall 3851 3

Options :

22742787989. 1
22742787990. 2
22742787991. 3

22742787992. 4

Question Number : 124 Question Id : 22742722584 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



() 2sand) B 03 pa (1) 2gand) A La Jua
(<) ()

Juad| 2 alal o
hj 3. P C
als | 4 g 2

2-3 ¢l-z 4= (3]
4-3> 3-z «2-c2 <]
1-3 2-z 3- 4]
1-3 3=z 4= Q-]

B oW R =

Options :

22742787993. 1
22742787994, 2
22742787995. 3

22742787996. 4

Question Number : 124 Question Id : 22742722584 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

() 2sand) B 03 pa (1) 2gand) A La Jua

Juad| 2 alal o
b.j 3. Pt C
als | 4 g 2

2-3¢]-z 4= ¢3-]
4-3 3z «2- ]|
1-3 2-7 3-c 4|
1-3 3=z 4= 2-]

oW R

Options :



22742787993. 1
22742787994. 2
22742787995. 3

22742787996. 4

Question Number : 125 Question Id : 22742722585 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
1103 g0l) Sl kb " Asulial) algdiu) 3lal g1 4l Sl

13a .1
13Ld 2
iy 3

L 4

Options :

22742787997. 1
22742787998. 2
22742787999. 3

22742788000. 4

Question Number : 125 Question Id : 22742722585 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
110390l AN (b " dsulial) algdiu) 3lal £1,al Sl

1ale .1
akd 2
ala 3
L 4
Options :

22742787997. 1



22742787998. 2
22742787999. 3

22742788000. 4

Question Number : 126 Question Id : 22742722586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g oal L See it Al JB
Jdu .1

duls D
Jilae 3
s 4
Options :

22742788001. 1
22742788002. 2
22742788003. 3

22742788004. 4

Question Number : 126 Question Id : 22742722586 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

s Al L ey it il g
Ju .1
A 2
s 3
ry E |
Options:
22742788001. 1
22742788002. 2

22742788003. 3



22742788004. 4

Question Number : 127 Question Id : 22742722587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
i AL sl 1l ABE A jesa
adbuy) Jud Cied g Al SilaaY) (]
oSl allaa & iy il Claalyl 2
3! 2gall i iy Al GilaaY) 3
PV RPN VN g WIS P LA RPN Y T

Options :

22742788005. 1
22742788006. 2
22742788007. 3

22742788008. 4

Question Number : 127 Question Id : 22742722587 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

10915 AL Jad 1530 B An e
Al o Cand g Al CilaaYl (]
aluay! ‘:_UM (b iy Al Silasl 2
5 3a¥) 2gall i iy Al Gilaal) 3
onbinll ngall & i g Al CalaaYl 4

Options :

22742788005. 1
22742788006. 2
22742788007. 3
22742788008. 4



Question Number : 128 Question Id : 22742722588 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
(,12' J_._ﬁSh aal g.lﬁ Al g
xgll |1
L 2
Lijsu 3
L gil 4
Options :
227427880009. 1
22742788010. 2
22742788011. 3

22742788012. 4

Question Number : 128 Question Id : 22742722588 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gﬂ J_._L:SLI daal g.b aly
agll ]
L 2
bjsu 3
Lasi g2il 4
Options :

227427880009. 1
22742788010. 2
22742788011. 3

22742788012. 4

Question Number : 129 Question Id : 22742722589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
R u.ﬁn " iladl Gudalud) lis
Y Al
4 puall 2
als ol 3
din pmiyl 4
Options :
22742788013. 1
22742788014. 2
22742788015. 3

22742788016. 4

Question Number : 129 Question Id : 22742722589 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
(08 A 1 ilad) el Gilig
Y Al ]
4a puall 2
gl 3
din padyl 4
Options :
22742788013. 1
22742788014. 2
22742788015. 3

22742788016. 4

Question Number : 130 Question Id : 22742722590 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:gj_:ll-"ﬂ" o Al o 83 g jlda ;_J.u,_!.ul:t ‘EJ'U:J wl 'a.ﬁ"’m.“ T

A_th.'l'l il i~
Al A el |
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-
o i e

e e

:'_'n'.h_"u_l
¢ -

) B -

seadlez
Options :
22742788017. 1
22742788018. 2
22742788019. 3

22742788020. 4

Question Number : 130 Question Id : 22742722590 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o) N a5 Cana ) g gda el 7o ) 53 Aaauall A ganal) (e

A_th.'l'l il i~
Al A el |

_‘L?_'u_'lﬂ
-
o i e

e e

:'_'n'.h_"u_l
¢ -

) B -

seadlez
Options :
22742788017. 1
22742788018. 2
22742788019. 3

22742788020. 4



Question Number : 131 Question Id : 22742722591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
2" sl ASlaa" (s ga
b aml il 2

Options:

22742788021. 1
22742788022. 2
22742788023.3

22742788024. 4

Question Number : 131 Question Id : 22742722591 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
:njuj_:.i ;.F-Lq..” (s 0
>0l ) 2

Options:

22742788021. 1
22742788022. 2
22742788023. 3
22742788024. 4

Question Number : 132 Question Id : 22742722592 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
(b ol gl O Lgaal sllgl ASlan el
4yl 1
agige il 2
i@ ey 3
Lagl 4
Options :
22742788025. 1
22742788026. 2
22742788027. 3

22742788028. 4

Question Number : 132 Question Id : 22742722592 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

(b gl giall (ha Lgasl sllg) dSlan jlaciad

Al L1

dgigc il 2

i@ ey 3

ixgll 4

Options :

22742788025. 1
22742788026. 2
22742788027. 3

22742788028. 4

Question Number : 133 Question Id : 22742722593 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:"Q‘ﬁﬂ'! L-HJJ-A" w&.ﬂj E'AT-‘M'“ ESJAA'AJ'I &_.'_'G- .
LHJLAM _J;Li]l L néﬁ m;“)lﬁ e ¢ alaall Jgana l_‘].ull_'::- 0,
Options :
22742788029. 1
22742788030. 2
22742788031. 3

22742788032. 4

Question Number : 133 Question Id : 22742722593 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
:"Q‘ﬁﬂ'! L-HJJ-A" w&.ﬂj E'AT-‘M'“ ESJAA'AJ'I &_.'_'G- .
U_ULAM J.‘Lﬂl i r.éjﬂ.ﬁ. \_J.q:;‘)yl e ¢ laall 2 gana l__].ull_h:- -2
‘#_,ia.mh tﬁ]:nl‘_:,ﬂ.'ijal...al.nn t‘_:,,_'ULqM _J_‘*'Lﬂ\ uc ¢ ) gadl dana 3

Options :

22742788029. 1
22742788030. 2
22742788031.3

22742788032. 4

Question Number : 134 Question Id : 22742722594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



s palie (pa Lad da Al g JdBI)

I3 1
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wsall 3
Ja il 4

Options :

22742788033. 1
22742788034. 2
22742788035. 3

22742788036. 4

Question Number : 134 Question Id : 22742722594 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
s palie Cpa Lad da Al g JdBN)

Jdoa .1
r.L'riJi'l 2
2ol 3
i 3Y 4

Options:

22742788033. 1
22742788034. 2
22742788035. 3

22742788036. 4

Question Number : 135 Question Id : 22742722595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



shhd B e 0 Gladda O daal O ualal) ( dana (s daal jae gl A
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g (!
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1 ] .
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Options :

22742788037. 1
22742788038. 2
22742788039. 3

22742788040. 4

Question Number : 135 Question Id : 22742722595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

sl @ B e 0 Gladde O daal O alal) C dasa (s daal jae gl A
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a1
g
O O
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B Lo

Options :

22742788037. 1
22742788038. 2
22742788039. 3
22742788040. 4

Question Number : 136 Question Id : 22742722596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



2oL} () gSAal) Cpua pealll (8 paaall il sall (e
B pile o pally G pall WllSialy hai o jall el 1 (e s mlsd) ()
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O e LS (@) 5 () 2
e 2 (@) sga() 3
ga () s 2 () 4

Options :

22742788041. 1
22742788042. 2
22742788043. 3

22742788044. 4

Question Number : 136 Question Id : 22742722596 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
slidl Gy Sl Cua palll (8 el Gl gl
& ilae o pally el AMSialy 5k o jal) el £ 580 e 8 mlisall (1)

ii3a (o sb (g pall pdll me el el jad e gl jilas (padie ()
s
Jama L3S () 5 (1) .1
e it LadS () 5 () 2
e 02 (@) sa(l) 3
e (@) s 22 (1) 4

Options :

22742788041. 1
22742788042, 2
22742788043. 3

22742788044. 4

Question Number : 137 Question Id : 22742722597 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
rolial (g8 all (g el (8 gaal) Gl sl (e

A e Ol e e sa il D ()
oY) e Ll 4 S o] ()

1

n.) 2

T i () s aaa (1) 3
) .4

Options :

22742788045. 1
22742788046. 2
22742788047. 3
22742788048. 4

Question Number : 137 Question Id : 22742722597 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
soLial (y gSdall Cuay patll (i reaall Gl gad) (e
A ve G Gililze e ga y ol el ()
oY) e Ui 4 S o) ()
Olasaaa LaadS () 5(1) .1

e 2 (Q) sza=a () 3
T (@) s 22 (1) 4

Options :

22742788045. 1
22742788046. 2
22742788047.3

22742788048. 4



Question Number : 138 Question Id : 22742722598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
s g s G
DR NI |
w2
e ol 3
QJLMJHLELJJ;H1_4
Options :
22742788049. 1
22742788050. 2
22742788051. 3

22742788052. 4

Question Number : 138 Question Id : 22742722598 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
sl g (e
4y ue ol
w2
e ol 3
(bl zr o 4
Options :
22742788049. 1
22742788050. 2
22742788051.3

22742788052. 4

Question Number : 139 Question Id : 22742722599 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
romala o ) Gl (5 9 1932 le (B Al i) dpaanl) upll 3
oatill il ]
ol el 2
Cpe¥l U3
Gsiall (el 4
Options :
22742788053. 1
22742788054. 2
22742788055. 3

22742788056. 4

Question Number : 139 Question Id : 22742722599 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
tuaia Ao el G g (5 91932 ale A i) duanl) Gunals a3
ot ) il

onall Cpal

Gl il

G iall (gl

B b —

Options :

22742788053. 1
22742788054. 2
22742788055. 3

22742788056. 4

Question Number : 140 Question Id : 22742722600 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



() dgand) A sl L pa (1) 2gead) B L Jua

Jlee ) el el
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Options :

22742788057. 1
22742788058. 2
22742788059. 3

22742788060. 4

Question Number : 140 Question Id : 22742722600 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
t() dgand) (B Asuliy La aa (1) 2gand) A Le Jua

Jlac Y eyl
U8 Y el Saa| ] i glea Jliva| |
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1-G 62-2 3=z 4]
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Options:



22742788057. 1
22742788058. 2
22742788059. 3

22742788060. 4

Sub-Section Number : 2
Sub-Section Id : 227427884
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742722601 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Gl Gaeall S et g i dad Lnay Vgenay Luje 15003 1 gl i
3L ) 8 e s (S ol 55 (u Sl dad S5 "F—‘é'“ SeA b s
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Sub questions



Question Number : 141 Question Id : 22742722602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
1k Lea maall Gl gl e
58 ol sle aabaall Ll ) () ao puall Guuall 485 8 Jumdl) a0 L]
O5S g s aalaal) Lesds ) (M ao sl Gual) 2285 8 Juadl) s 2
& O o g sl a5 ) oyl Gaeall 0365 8 il a1 3
o gheas E_.;.‘*‘z,!SAM laaia ) @)JH ML¢E£M1 = 4
Options :
22742788061. 1
22742788062. 2
22742788063. 3

22742788064. 4

Question Number : 142 Question Id : 22742722603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
e Laa Uadd) ol gall u.g:-
Ao il gla dge Jia A gl AaSYL Adlaal) Al Gall du 55 ]
(s e et s iy IS 518 jualy alain) ol jamy i3 pusi sle 0ol 2
Aty U )5S (o (A xS e a3 e gl @58 (o8 sl Jlud 3
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Options :
22742788065. 1
22742788066. 2
22742788067. 3

22742788068. 4

Question Number : 143 Question Id : 22742722604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
et (g A i (B o gall (pula
O gl 2 LI )
oSty 5
O3Sk Jsiad
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Options:

22742788069. 1
22742788070. 2
22742788071. 3

22742788072. 4

Question Number : 144 Question Id : 22742722605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options :
22742788073. 1
22742788074. 2

22742788075. 3

22742788076. 4

Question Number : 145 Question Id : 22742722606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742788077. 1
22742788078. 2
22742788079. 3

22742788080. 4

Question Id : 22742722601 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 22742722602 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
1k Laa aall ol gal) o
85 o she axball Ll ) (A a ) ) 085 8 i) a0 L]
058 LS @l s paliall g ) M g sall Cppeall 2385 3 Juaill g2 2
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Options :
22742788061. 1
22742788062. 2
22742788063. 3

22742788064. 4



Question Number : 142 Question Id : 22742722603 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
:QAﬂL;‘Lh5J1HﬂJ?J1CQb
(BosOn ) pai b ying S 518 jualy slaial (gl jumy g3 55 o le (30l 2
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Options:
22742788065. 1
22742788066. 2
22742788067. 3

22742788068. 4

Question Number : 143 Question Id : 22742722604 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
s (5 8 iiSa (B o gal) Galay
Ol 2 i
OSaly sl
O3Sk Jsiad
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B b —

Options :

22742788069. 1
22742788070. 2
22742788071. 3

22742788072. 4

Question Number : 144 Question Id : 22742722605 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :
22742788073. 1
22742788074. 2

22742788075. 3
22742788076. 4

Question Number : 145 Question Id : 22742722606 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

P gt Bt e i
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Options :

22742788077. 1
22742788078. 2
22742788079. 3

22742788080. 4

Sub-Section Number : 3
Sub-Section Id : 227427885
Question Shuffling Allowed : Yes

Is Section Default?: null



Question Id : 22742722607 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 22742722608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 147 Question Id : 22742722609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 148 Question Id : 22742722610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 149 Question Id : 22742722611 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 22742722612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Id : 22742722607 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 22742722608 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Question Number : 147 Question Id : 22742722609 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 148 Question Id : 22742722610 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Question Number : 149 Question Id : 22742722611 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 22742722612 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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